Chapter 10: UDP

1. What UDP header field does UDP use for demultiplexing? 

The UDP port number is used for multiplexing and demultiplexing.

2. What is UDP’s only attempt at error control?

The UDP checksum is used for error control and includes fields from the IP header.

3. A socket is comprised of what two TCP/IP components?

The IP address and the port number form the socket. For example, 10.10.12.166:68. In IPv6 it is necessary to add brackets to avoid confusion with the :: notation: [FC00:490:f100:1000::1]:80.

4. What is the registered port range? Are these assigned or controlled?

Registered ports are in the range 1024 to 49151. They are not assigned or controlled, but can be registered to prevent duplication.

5. What is the dynamic or private port range? Are these assigned or controlled?

Dynamic ports are in the range 49152 to 65535. They are not assigned, controlled, or registered.

